Debris flow volume (m?®)

Debris flow volume (m?®)

Debris flow volume (m®)

Rainfall (mm/hr.)
Debris flow volume (m®)

Rainfall (mm/hr.)
Debris flow volume (m®)

450000 0
400000 B 15 mm/hr.
350000 120
300000
250000
200000 -
150000
= 15 mm/hr.
100000 (a) rainfall induces debris flow| 80
50000 - in 74 hours
0 . : . : 100
73.61111 73.88889 74.16667 74.44444 7472222 75
Time (Hours)
450000
400000 I 30 mm/hr.
350000
300000 -
40
250000 -
200000 -
60
150000 - ,
—u— 30 mm/hr.
100000 . ) . |
rainfall induces debris flow|1 &°
5mm0-(d) at 4.7 hours |
0 . i : i 100
416667 4.44444 472222 5 5.27778 5.55556
Time (Hours)
600000 0
500000 B 45 mm/hr.
20
400000
40
300000 ,
=— 45 mm/hr. 60
200000 - rauﬁgﬂlnduces
debris flow
100000_m2.5hours 80
(9)
0 —~ - : e - 100
2.08333 2.29167 25 2.70833

Time (Hours)

Rainfall (mm/hr.)
Debris flow volume (m?)

450000 0
400000 I 20 mm/hr.
350000 20
300000 o
{40 E
250000 - £
200000 - =
w60 '
150000 S
—=— 20 mm/hr.
100000 (b) rainfall induces debris flow| 180
50000 in 14 hours
0 : . . . 100
13.88889 14.4444 15  15.55556 16.11111 16.66667
______ Time (Hours) _
400000 B 35 mm/hr.
350000 20
300000 o
{40 E
250000 - £
200000 - T
60 ¢
150000 - K
100000 —=— 35 mm/hr.
il rainfall induces debris flow|{ 80
50000 at 3.35 hours
(e)
0 T L T + —t - 100
2.77778 3.33333 3.88889 4.44444 5
Time (Hours)
600000 0
500000 20
I 50 mm/hr.
400000 =
40 ¢
S
300000 =
=— 50 mm/hr. leo 2
" . [ =
200000 4 |rainfall induced é
debris flow
100000 - at 1.5 hours 180
(h)
0 —_— r . 100
1.38889 1.66667 1.94444 222222 25 277778

Time (Hours)

Debris flow volume (m*) Debris flow volume (m*)

Debris flow volume (m?®)

40

60

80

100

450000 0
400000 B 25 mm/hr.
350000 20
300000
250000 - 1
200000 -
150000 -
=— 25 mm/hr.

100000 (c) rainfall induces debris flow|
50000 - at 7 hours

0 : } : ;

6.94444 722222 75  7.77778 805556 8.33

Time (Hours)

333

600000
500000 I 40 mm/hr.
400000
3000004 = 40 mm/hr.
rainfall induces 60
2000004 |debris flow
in 2.7 hours
100000 - 80
(f)
O T + T + T 4 T 4 T 100
1.66667 222222 277778 3.33333 3.88889
Time (Hours)
600000 0
500000
40
B °0 mm/hr.
400000
80
3000004 [ 90 mmihr.
200000 rainfall induces 120
1 |debris flow
100000 - in 1 hour 160
(i)
0 T T 200
0.625 0.83333  1.04167 1.25

Time (Hours)

Rainfall (mm/hr.) Rainfall (mm/hr.)

Rainfall (mm/hr.)



